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bar kgf/cm? atm mmHg(B) mmH,0 psi dyne/cm? Pa
1bar 1 1.019716 0.986923 750.062 1.019745x10* 14.50° 10° 0.1M
Ikgf/em®*(A) 0.980665 1 0.967841 735.559(C) 1.000028x10* 14.217 0.9864x10° 0.0980665M
latm 1.03250 1.033228 1 760 1.03325%10* 14.70° 1.01375x10° 0.101325M
ImmHg** 1.333,3x10™ 1.3595x1073 1.361¢x1073 1 1.3595x10 1.933x1072 1.33353x10° 0.133322k
ImmH,0%** 0.9806,x107* 0.9997x107* 0.9678x107* 7.356x1072 1 1.42,x10°3 0.9806x10? 0.00980665k
1psi(1b/in) 0.06895 0.07039 0.0680 51.715 7.030%10> 1 6.895x10* 6.895k
1dyne/cm? 10 1.0195x10° 0.9869,x107° 7.500%10 1.0195¢x1072 1.45%10° 1 0.1
1Pa(N/m?) 107 1.019,x10° 0.989,x10° 7.5006x1073 0.1097 1.45%10* 10 1

* Mkfg/em? = kg/em? . kgf, % kilogram force R

**] Torr = 1 mmHg
***ImmAq = 1 mmH20
(R )

B

eI 47138 0.8kfg/em? £ %) mmHg Eﬁ o

g—ﬁvi RIS pJ 1kfg/cm?(A)

iV mmHg(B) 97

}i—j 0. 8kfg/cm gl mmHg {11 EHJ: 0.8X735.559 =

W B E

o 1993 & 11 5| 1 [IdAG V¥t B AL
CRNES TRUARIIEE oI E) S U1
Toor » H59f » 1999 =& 9 5| 30 [ 1§l - &F°
i kfg/cm? ~ mmHg (7 B £ &
’71» ) ~ K mH20 -

SR EE TR

a7 H miEE e

» H[1£% 735.559mmHg(C) © (1kfg/cm? = 735.559mmHg)
88mmHg ) Ff'sf 0.8kfg/cm? = 588mmHg -

381




